
DIVISION OF FOUR.DIGITS BY TWO-DIGITS

When the dividend and divisor are numbers with two or
step-by-step process.

Example: ?? quotient

divisor ----------> TS|2OB3 <- dividend

more digits, division becomes a

Round the divisor up (75 rounds up to 80) and estimate the number of 80's in 208.
The answer is 2.
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Multiply the divisor by the quotient (2 x 75) if the
product of those two numbers is larger than the
dividend, try a smal ler quot ient.
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3rd
Step

4th
Step

6th
Step

Example:

75/
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Example: As a decimal

27.773
75 ,fffiOoo

-150
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525
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Subtract and compare the remainder and the divisor.
lf the remainder is greater than the divisor, the
quotient tried is too small; try a larger quotient.

Pull down the next digit from the dividend (3) and
repeat the estimation and subtraction process.
(How many times can 80 go into 5g3?i The answer
is 7 t imes.

Multiply the divisor (Z x7S), subtract the product
from the dividend, and compare.

Use the divisor as the denominator. Always
reduce to lowest terms.

27.77

Divide to the thousandths place. Round thar
number to the hundredths place.

The quotient is 27ft or 27.72

5th
Step

75 is larger than 58, so the number left over is called the remainder The
remainder should be written as a fraction or decimal.

As a fraction

27 ^g__=_=___> 27 +/c

583
525
58

250
225

58
75
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